FEDERAL PUBLIC SERVICE COMMISSION

\wa~

Roll Number
COMPETITIVE EXAMINATION-2020
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT
BUSINESS ADMINISTRATION
TIME ALLOWED: THREE HOURS PART-1 (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.
(ii)) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.‘
(iif) All the parts (if any) of each Question must be attempted at one place instead of at different
places.
(iv) Write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(V) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extra attempt of any question or any part of the question will not be considered.

PART —11

Q. No. 2. Discuss that Management is evolutionary process. Substantiate your answer through (20)
commenting on contribution made by Fredrick Taylor, Max Weber and Elton Mayo.

Q. No. 3. What are the key elements involved in designing organizational structure? (20)
.’_____.—

. No. 4. What is the importance of Employees Performance Appraisal? Discuss the problems (20)
faced in Employee Appraisal. b

Describe how would you plan_Integrated Communication Process for launching a  (20)
product.

Q. No. 6. What is Bluewhip effect and how does it relate to lack of coordination in the supply (20)
chain.

t/Q. No. 7. Explain the following analytical tools of Financial Management: (05 marks each) (20) \
) (a) Time series analysis versus cross sectional analysis.
(b)  Horizontal analysis versus vertical analysis.
(c) Liquidity ratios versus debt ratios.
(d)  Tumover ratios versus profitability ratios.

\/ Q. No.8. Tiger Corporation is considering to invest in a given project. After tax cash flows of (20)

the project are given below: e A :
Years Project (8) o =
Initial P -
| Cash Flow 150,000 i
a 1 50,000 - TR Toy -
2 56,000 : :
3 64,000 o = GEEN
) 4 68,000 o &
5 72,000 o e

Determine Payback Period, Net Present Value and Profitability Index using 13% as =
__required rate of return. | _ o _— -

s e .
s

****J****** -




FEDERAL PUBLIC SERVICE COMMISSION

Roll Number
COMPETITIVE EXAMINATION-2019 -
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT
BUSINESS ADMINISTRATION
TIME ALLOWED: THREE HOURS PART-1 (MCQS) MAXIMUM MARKS =20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-11 is to be attempted on the separate Answer Book.
(i) Attempt ONLY FOUR questions from PART-I1. ALL questions carry EQUAL marks.
(iii)  All the parts (if any) of each Question must be attempted at one place instead of at different
places.
(iv) Write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.
(vi) Extra attempt of any question or any part of the question will not be considered.
(vii) Use of calculator is allowed.

PART - 11

Q. No. 2. What is the significance of strategic management for an organization? Explain the various  (20)
steps of strategic management process.

Q. No. 3. What are the internal sources of job candidates? How can managers forecast the supply of  (20)
internal candidate?

Q. No. 4. Discuss the advantages and disadvantages of different methods a manager can adopt for  (20)
effective performance appraisal of employees.

Q. No. 5. Discuss the three common capital budgeting decision techniques with examples and  (20)
formulas.
Q. No. 6. An international manufacturing concern has provided the income statement data. Give  (20)

formulas to calculate the following ratios. Also explain how to interpret them?
(i) Current ratio
(if)  Quick ratio
(iii) Average collection period
(iv) Time interest earned
(v) Inventory turnover

Q. No. 7. The impact of different levels of decision phases of supply chain depends on timeframe.  (20)
Explain the decision phases in supply chains with examples.

Q. No. 8. Compare the advantages of mass marketing to those of market segmentation for a  (20)
company. Discuss with relevant business examples.
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION-2018 Roll Number
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT
BUSINESS ADMINISTRATION
TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS = 20
PART-I(MCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-11 is to be attempted on the separate Answer Book.
(if) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.
(iii)  All the parts (if any) of each Question must be attempted at one place instead of at different
places.
(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.
(vi) Extra attempt of any question or any part of the attempted question will not be considered.
(vii) Use of Calculator is allowed.

PART - 11

Q. No. 2. Daud Tools, a manufacturer of lathe tools, is currently selling a product for $10 per (20)
unit. Sales (all on credit) for last year were 60,000 units. The variable cost per unit is
$6. The firm’s total fixed costs are $120,000.

The firm is currently contemplating a relaxation of credit standards that is expected to
result in the following; a 5% increase in unit sales to 63,000 units; an increase in
average collection period from 30 days (the current level) to 45 days; an increase in bad
debt expenses from 1% of sales (current level) to 2%. The firm determines that its cost
of tying up funds in receivables is 15% before taxes.

Question: Determine whether it would be profitable for Daud Tools to relax its credit
standards. To arrive at your decision, show the calculation of;

@ Additional profit contribution from sales

(b) Cost of marginal investment in account receivables

(©) Cost of marginal investment in bad debts

Q. No. 3. ABC Industries (20)
Balance sheet ending December 31, 2016

Liabilities and

Assets $ stockholder’s Equity $
Cash 32,720 Accounts Payable 120,000
Marketable securities 25,000 Notes payable -
Accounts receivable ~ ------—--- Accruals 20,000
Inventories  emmeeeeee- Total current liabilities ~ ------------
Total current assets ~ --—------- Long-termdebt ~ ---mmmeeee-
Net fixed assets ~ ----m-e- Stockholder’s equity 600,000
Total assets ~ —emmeeeee- Total liabilities and

stockholder’s equity ~ ----------
The following financial data for 2016 is also available;
(@)  Sales totalled $1,800,000.
(b) The gross profit margin was 25%.
(©) Inventory turnover was 6.0.
(d) There are 365 days in the year.
(e) The average collection period was 40 days.
(fH The current ratio was 1.60.
(9) The total asset turnover ratio was 1.20.
(h) The debt ratio was 60%.
Complete the 2016 balance sheet for ABC Industries using the given information.
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BUSINESS ADMINISTRATION

Q. No.

Q. No.

Q. No.

Q. No.

Identify the major drivers of supply chain performance. Discuss the role each driver
plays in creating strategic fit between supply chain strategy and the competitive
strategy. Define the key metrics that track the performance of the supply chain in terms
of each driver.

Brand positioning is the act of establishing a distinctive image of a product or offering
in the minds of customers. How do marketers analyse competition and differentiate
their products for successful positioning?

How do consumers process and evaluate prices? What is the 5-step process of setting
the initial price for products or services? When and how should a company initiate a
price change, i.e. introduce a price cut or price increase?

Organizational structures are designed in two major forms; traditional and
boundaryless organizations. Discuss their different types, characteristics as well as their
relative advantages and disadvantages, in comparison to each other.

What is Training Needs Analysis (TNA), why is it important to conduct it, and what
should it evaluate? What are the types of training methods and which training method
should be employed for each type of training needs?
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION-2017
FOR RECRUITMENT TO POSTSIN BS-17
UNDER THE FEDERAL GOVERNMENT

BUSINESSADMINISTRATION

Roll Number

TIME ALLOWED: THREE HOURS
MAXIMUM 30 MINUTES

PART-1(MCQS):

PART-I (MCQS)
PART-I|

MAXIMUM MARKS =20
MAXIMUM MARKS =80

NOTE: (i)

Part-I1 isto be attempted on the separate Answer Book.

(i) Attempt ONLY FOUR questionsfrom PART-I1. ALL questions carry EQUAL marks.
(iii) All the parts (if any) of each Question must be attempted at one place instead of at different

places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must

be crossed.

(vi) Extraattempt of any question or any part of the attempted question will not be considered.
(vii) Useof Calculator isallowed.

PART -1
Q.No.2. What does a company need to do to achieve strategic fit between the supply chain and  (20)
competitive strategies?
Q.No.3. Describe how marketing strategies change during product life cycle. Also indentify and  (20)
discuss some potential problems with the product life cycle.
Q.No.4. There are severa basic techniques managers use for appraising the performance of  (20)
employees. Discuss these techniques.
Q.No.5. A manager who really wants to approach a decision rationally and logically should try to  (20)
follow the stepsin rational decision making. Discuss these steps with examples.
Q.No.6. (@) A successful strategy requires determining the firm’s Critical Success Factors (10)
(CSF) and core competencies. Discuss how a manager of pharmaceutical firm can
align core competencies with CSF.
(b) How an operation manager can manage demand of a product in the light of (10) (20)
available capacity?
Q.No.7. Thefollowing datarelatesto ABC Company (20)
I ncome statement
Sales Rs. 500,000
Cost of goods sold 300,000
Operating expenses 60,000
Interest expenses 10,000
Income tax expenses 40,000
Net income 90,000
Balance sheet
Assets
Cash Rs 10,000
Accounts receivable 15,000
Inventory 20,000
Equipment 455,000
Total: 500,000
Liabilities
Accounts payable Rs 12,000
Long-term notes payable 48,000
Shareholder’s equity:
Capital stock 300,000
Retained earnings 140,000
Total: 500,000
Find and interpret the company’s
(i) Current ratio (i) Quick ratio  (iii)  Average collection period
(iv) Timeinterest earned (v) Inventory turn over
Q.No. 8. Discuss the three common capital budgeting decision techniques with examples and  (20)

formulas.
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FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION-2016
FOR RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT

Roll Number

BUSINESS ADMINISTRATION

TIME ALLOWED: THREE HOURS PART-I (MCQS) MAXIMUM MARKS =20
PART-IMCQS): MAXIMUM 30 MINUTES | PART-II MAXIMUM MARKS = 80

NOTE: (i) Part-II is to be attempted on the separate Answer Book.
(ii) Attempt ONLY FOUR questions from PART-II. ALL questions carry EQUAL marks.
(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.
(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.
(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.
(vi) Extra attempt of any question or any part of the attempted question will not be considered.
(vii) Use of Calculator is allowed.

PART-II

Q. No.2. Enumerate the important steps you will follow for completing the Strategic (20)
Management Process for a Garment Manufacturing Company.

Q. No.3. What are the various types of Pricing? Propose the Pricing Strategy for a new, high  (20)
quality brand of shoes.

Q. No. 4. Discuss the features of the various types of Financial Markets. (20)
Q. No. 5. The following data relates to Bright Star Company (millions of Rs.) 20)
Cash & equivalents Rs 100.00
Fixed Assets 283.50
Sales 1000.00
Net Income 50.00
Current Liabilities 105.50
Current Ratio 3.00
Days Sales Outstanding (DSO) 40.55Days
Return on Equity 12.00%
The Company has no Preferred Stocks- only Common Equity, Current Liabilities, Long Term
Debt.
(a) Find the Company’s
(i) Accounts Receivable  (ii) Current Assets (iii) Total Assets
(iv) Return on Total Assets (v) Common Equity (vi) Quick Ratio

(vii) Long term Debt

(b) In part a) you should have found that the Company’s Accounts Receivable
(A/R) = Rs. 111.1 million. If Bright Star Company reduces its DSO from 40.55
days to 30.4 days, while holding other things constant, how much cash would it

generate?
Q. No. 6. Propose a ‘Recruitment Yield Pyramid’ for a Five Star Hotel. (20)
Q. No. 7. Discuss the significance of major ‘Supply Chain Drivers’ in accomplishing business (20)

goals.




FEDERAL PUBLIC SERVICE COMMISSION

Roll Number
COMPETITIVE EXAMINATION FOR
RECRUITMENT TO POSTSIN BS-17
UNDER THE FEDERAL GOVERNMENT, 2015
BUSINESS ADMINISTRATION
TIME ALLOWED: THREE HOURS PART-I (MCQYS) MAXIMUM MARKS=20
PART-I(MCQS): MAXIMUM 30MINUTES | PART-II MAXIMUM MARKS=80

NOTE: (i) Part-11 isto be attempted on the separate Answer Book.

(i) Attempt ONLY FOUR questions from PART-I1, selecting AT LEAST ONE question from
EACH SECTION. ALL questionscarry EQUAL marks.

(iii) All the parts (if any) of each Question must be attempted at one place instead of at different
places.

(iv) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q.Paper.

(v) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.

(vi) Extraattempt of any question or any part of the attempted question will not be considered.

(vii) Use of Simple Calculator is allowed.

PART-II
SECTON -I| (MANAGEMENT)

Q. No. 2. Discuss the nature and scope of Management and also discuss functions of the  (20)
Management.

Q.No.3. What is difference between leader and Manager and identify important approachesto  (20)
effective leadership?

SECTION-II (PRINCIPLES OF MARKETING)

Q.No.4. Explain what is meant by “the marketing concept” compare this with a product (20)
orientation and a sales orientation.

Q.No.5. What is plan, planning and strategic planning and its role in effective marketing  (20)
management?

Q.No.6. What do you know about MARKETING MIX and how its effect on increasing the  (20)
sales volume of a company?

SECTION-III (FINANCIAL MANAGEMENTYS)

Q. No. 7. Discuss the nature and scope of FINANCE and FINANCIAL MANAGEMENT and  (20)
alsoitsrolein financial efficiency.

Q.No.8. What is the importance of port folio Management and describe different types of  (20)
investment and financial securities?
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FEDERAL PUBLIC SERVICE COMMISSION i
COMPETITIVE EXAMINATION FOR
RECRUITMENT TO POSTS IN BS-17 2

UNDER THE FEDERAL GOVERNMENT, 2014

BUSINESS ADMINISTRATION

TIME ALLOWED: | (PART-I MCQs) 30 MINUTES MAXIMUM MARKS: 20
THREE HOURS (PART-1I) ; 2 HOURS & 30 MINUTES MAXIMUM MARKS: 80 |
NOTE: (i) Part-1I is to be attempted on the separate Answer Book.
(i) Attempt ONLY FOUR questions from PART-IL, selecting AT LEAST ONE gquestion from
EACH SECTION. ALL questions carry EQUAL marks.
(iii) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q. Paper.
(iv) No Page/Space be left blank between the answers. All the blank pages of Answer Book must
be crossed.
(v) Extra attempt of any question or any part of the atiempted guestion will not be considered.
(vi) Use of Simple Calculator is allowed.

PART-11
S N-A NAGEMEN

Q.No.2. Discuss the contingency factors that effect planning. Describe how managers can
effectively plan in today’s environment. (20)

Q.No.3. What issues do today’s leaders face? Do you think that most managers in real life use a
contingency approach to increase their leadership effectiveness? Explain. ) (20)

SECTION-B (PRINCIPLES OF MARKETING)
Q.No.4. What constitutes good marketing research? How can company correcily measure and

forecast demand? (20)

/ Q.No.5. How can companies evaluate and select specific foreign markets to enter? What are the
differences between marketing in a developing and developed market? (20)

SE -C CIAL MANAGEM

Q.No.6. How is a net present value profile used to complete projects? What causes conflicts in
making of projects via net present value and internal ﬂ_gf return? (20)

Q. No.7. How are total risk, non-diversifiable risk, and diversifiable risk selected? Why is non-
diversifiable risk the only relevant nsk? (20)
Q.No.8. The financial statements of Remington Pharmaceuticals for the year ended December (20)

31, 2012, follow:
Remington Pharmaceuticals Income Statement |
for the Year Ended December 31,2012 '

Sales revenue § 160000
Less: Costof goods sold 106000
Gross'profits § 54000
Less Operating expenses
Selling expense £ 16000
General and administrative expenses 10000
Lease expense 10040
Depreciation expense 10000
Total operating expense § 37000
Operating profits § 17000 —
Less: Interest expense 6100
Net profits before taxes $ 10900
Less: Taxes 4360
Net Profits after taxes B 6540
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BUSIN MINIST 1ON

Remington Pharmaceuticals Balance Sheet December 31, 2012

Assets
_~Cash b1 500
—Marketable Securities 1000
Accounts receivable 25000
, Inventories 45500
Total Current Assets 5 72000
Land £ 26000
Building and equipment £ 90000
Less: Accumulative depreciation § 38000
Net fixed Assels S 78000
Total Assets $ 150000
Accounts payable $ 22000
Notes payable __47000
Total Current Liabilities £ 69000
Long term debt 22950
Common stock equity $ 31500
Retained eamings 26550
Total Liabilities and Stockholders Equity S 150000

The firm’s 3000 outstanding shares of common stock closed 2012 at a price of $ 25 per share.

a. Use the preceding financial statements to complete the following table. Assume the industry average
given in the table are applicable for hoth 2011 and 2012,

Ratio Industry ayerage  Actual 2011 Actual 2012
Current ratio 1.80 1.84 -
Quick ratio 0.70 0.78 -
Inventory turnover* 2.50 .59 —
Average collection period® 37.5days 36.5 days e
Debt ratio_— 65% 67% -
Times interest eamed ratio 38 4.0 -
Gross profit margin 38% 40% -
Net profit margin 3.5% 3.6% —
Return on total assets 4.0% 4.0% —
Return on common equity 0.5% B.0% —
Market/Book ratio L1 1.2 ——

* Bases on a 363 days vear and on end of year figures.
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR
RECRUITMENT TO POSTS IN BS-17 Roll Number
UNDER THE FEDERAL GOVERNMENT, 2013

BUSINESS ADMINISTRATION

TIME ALLOWED: | (PART-1 MCQs) 30 MINUTES MAXIMUM MARKS: 20
THREE HOURS (PART-II) 2 HOURS & 30 MINUTES MAXIMUM MARKS: 80
NOTE: (i) Firstattempt PART-1 (MCQs) on separate OMR Answer Sheet which shall be taken back
after 30 minutes.
(i) Overwriting/cutting of the options/answers will not be given credit.

PART-I (MCQs) (COMPULSORY)

Q.1. (i) Select the best option/answer and fill in the appropriate Circle© on the OMR Answer Sheet. (20x1=20)
(if) Answers given anywhere, other than OMR Answer Sheet, shall not be considered.

1.  What are the earnings per share (EPS) for a company that earned $100,000 last year in after-tax profits, has
200,000 common shares outstanding and $1.2 million in retained earnings at the year end?

(a) $100,000 (b) $6.00 (c) $0.50 (d) $6.50
2. The decision function of financial management can be broken down into the decisions:
(a) Financing and investment (b) Investment, financing and asset management
(c) Financing and dividend (d) Capital budgeting, cash management and credit management

3. You want to buy an ordinary annuity that will pay you $4,000 a year for the next 20 years. You expect annual
interest rates will be 8 percent over that time period. The maximum price you would be willing to pay for the
annuity is closest to:

(@) $32,000 (b) $39,272 (c) $40,000 (d) $80,000

4. Which of the following would NOT improve the current ratio?

(a) Borrow short term to finance additional fixed assets (b) Issue long-term debt to buy inventory

(c) Sell common stock to reduce current liabilities (d) Sell fixed assets to reduce accounts payable
5. Alto industries has a debt-to-equity ratio of 1.6 compared with the industry average of 1.4. This means that the
company:

(a) Will not experience any difficulty with its creditors
(b) Has less liquidity than other firms in the industry
(c) Will be viewed as having high credit worthiness
(d) Has greater than average financial risk when compared to other firms in its industry
6.  According to the capital-asset pricing model (CAPM), a security’s expected (required) return is equal to the risk-
free rate plus a premium:

(a) Equal to the security’s beta (b) Based on the unsystematic risk of the security
(c) Based on the total risk of the security (d) Based on the systematic risk of the security
7. “How people feel about corporations, government agencies, trade unions and universities” refers to which of the
following views?
(a) People’s view of others (b) People’s view of societies
(c) People’s view of themselves (d) People’s view of organizations

8.  Gathering secondary information is one of the steps of developing the research plan. What does the meaning of
secondary information in marketing research?
(a) That does not currently exist in an organized form
(b) That already exists somewhere, having been collected for another purpose
(c) That the researcher can obtain through surveys and observation
(d) That already exists somewhere in an organized form
9.  Which one of the following factor is NOT used for measuring the social class?
(@ Income  (b) Number of children in family (c) Occupation (d) Education
10. Which one of the following three-step process represents “Perception”?
(a) Motivation, personality and attitudes
(b) Collecting, eliminating and organizing information inputs
(c) Receiving, organizing and interpreting information inputs
(d) Anticipating, classifying and discarding information inputs
11. Demographic segmentation divides the market into groups based on which of the following variables?

(a) Size, location, industry, customer (b) Size, company, industry, technology
(c) Location, size, occupation, race (d) Customer, technology, company, industry

12.  Which of the following are those products purchased for further processing or for use in conducting a
business?

(a) Unsought products (b) specialty products (c) Shopping products (d) Industrial products
13. After concept testing, a firm would engage in which stage for developing and marketing a new product?

(a) Marketing strategy development (b) Business analysis

(c) Product development (d) Test marketing
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BUSINESS ADMINISTRATION

14.

15.

16.

17.

18.

19.

20.

Frederick Taylor advocated which of the following management principles?

(a) Work and responsibility should be divided almost equally between managers and workers.

(b) Workers should perform all work, while management should maintain responsibility for the work
performed.

(c) Managers should perform more work than workers, because managers are generally more skilled.

(d) Workers can be highly productive even if they are randomly selected for a job.

General administrative theory focuses on:

(a) The entire organization (b) Managers and administrators

(c) The measurement of organizational design relationships (d) Primarily the accounting function

Bureaucracy is defined as a form of organization characterized by:

(a) Division of labor (b) Clearly defined hierarchy

(c) Detailed rules and regulations (d) All of these

The quantitative approach involves applications of:

(a) Statistics, information models, and computer simulations

(b) Psychology testing, focus groups, and mathematics

(c) Optimization models, interviews, and questionnaries

(d) Survey, strategic planning, and group problem solving

The Hawthorne Studies were initially devised to study:

(a2) Productivity levels of groups versus individuals (b) The effect of noise on employee productivity

(c) The effect of illumination levels on employee productivity

(d) The effect of cooperative versus competitive organizational environments on productivity

Which of the following is considered a systems input?

(a) Management activities (b) Financial results (c) Operations methods (d) Raw materials

A manager who believes that no one set of principles applies equally to all work environments is most

likely advocating which management approach?

(a) Contingency (b) Workplace diversity (c) Organizational behaviour (d) Knowledge management

PART-II

NOTE: (i) Part-11is to be attempted on the separate Answer Book.

(if) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q. Paper.

(iii) Attempt ONLY FOUR questions from PART-II, selecting at least ONE question from EACH
SECTION. ALL questions carry EQUAL marks.

(iv) Extra attempt of any question or any part of the attempted question will not be considered.

Q.2.
Q.3.

Q.4.

Q.5.
Q.6.

Q7.

Q.8.

Q..

Q.10.

SECTION-A (MANAGEMENT)

Discuss importance of planning in organizations. Briefly describe types of plans. (20)

What criticism has been levelled against scientific approach to management? How the (20)
scientific approach to management is compared with behavioural approach?

Briefly comment upon contemporary theories of motivation. (20)
SECTION-B (PRINCIPLES OF MARKETING)

Briefly describe how marketing strategy is formulated? (20)

Discuss product attributes. Product can be differentiated on the basis of product attributes. (20)

Explain.

What is Integrated Marketing Communication? Comment on its major components. (20)

SECTION-C (FINANCIAL MANAGEMENT)

(a) You wish to borrow $10,000 for three years. The bank agrees to lend this amount if you are willing  (10)
to pay them $16,000 at the end of three years. What is the implicit rate of interest implied if it is
applied (i) on annually (ii) semiannully (to the nearest whole percent)?

(b) An investment of $10,000 will return $130 per year forever. What is its internal rate of return? (10)

Sapphire Corporation is considering cash outlay of $800,000 for acquisition of new equipment. (10)
The useful life is four years and the firm assesses zero residual value at the end of four years.
After-tax cash inflow of $200,000 are expected in year 1, $250,000 in year 2, $300,000 in year 3,
$400,000 in year 4. The company falls in the tax bracket of 50%.

(i) If the required rate of return is 15 percent, what is the net present value (05)
of the project? Is the project acceptable?
(if) What is the internal rate of return? (05)
A stock currently sells for $50 per share. The market requires a 13% return on the firm’s stock. (20)

If the company maintains a constant 5% growth rate in dividends, what was the most recent
dividend per share paid on the stock?
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FEDERAL PUBLIC SERVICE COMMISSION

Roll Number
COMPETITIVE EXAMINATION FOR
RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT, 2012
BUSINESS ADMINSTRATION
TIME ALLOWED: | (PART-1 MCQs) 30 MINUTES MAXIMUM MARKS: 20
THREE HOURS (PART-II) 2 HOURS & 30 MINUTES MAXIMUM MARKS: 80

NOTE: (i) Candidate must write Q. No. in the Answer Book in accordance with Q. No. in the Q. Paper.
(if) Attempt ONLY FOUR questions from PART-I1, Selecting AT LEAST ONE question from

EACH SECTION. ALL questions carry EQUAL marks.

(iii) Extra attempt of any question or any part of the attempted question will not be considered.

Q.5.
Q. 6.

Q. 10.

PART-II

SECTION-I (MANAGEMENT)

What is leadership? List and explain different types of leaders. Discuss any one
theory of leadership.

Why motivation is considered necessary in today’s organizations to increase
efficiency of the employees? Briefly describe any one theory of motivation.

Describe major functions of Management. Discuss its significance for modern
business organizations.

SECTION-II (PRINCIPLES OF MARKETING)

Briefly describe main features of marketing environment.

What is “Marketing Mix”? Discuss the role of marketing mix in the marketing
process for increasing sales volumes.

Describe main features of marketing role in the society. Discuss its impact on
human life

SECTION-II (FINANCIAL MANAGEMENT)

Describe main features of financial management. Discuss role of Finance Manager
in any organization.

(6+7+7=20)

(10+10=20)

(10=10=20)

(20)

(8+12=20)

(10+10=20)

(10+10=20)

Do adjusting entries affect Income Statement Accounts, Balance Sheet Accounts, or

both? Discuss.

How the Financial Statements are analysed and interpreted through ratio analysis.
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR Roll Number
RECRUITMENT TO POSTS IN BS-17
UNDER THE FEDERAL GOVERNMENT, 2011

BUSINESS ADMINISTRATION

TIME ALLOWED: | (PART-1 MCQs) 30 MINUTES MAXIMUM MARKS: 20
THREE HOURS (PART-II) 2 HOURS & 30 MINUTES MAXIMUM MARKS: 80

NOTE: (i)  First attempt PART-1 (MCQs) on separate Answer Sheet which shall be taken back after 30

minutes.
(i) Overwriting/cutting of the options/answers will not be given credit.

Q.1
()

(i)

(iii)

(iv)

(V)

(vi)

(vii)

(viii)

(ix)

(x)

(PART-1 MCOQs) (COMPULSORY)

Select the best option/answer and fill in the appropriate box on the Answer Sheet. (1 x 20=20)

Fredrick Winslow Taylor’s Principles of Scientific Management suggested the use of scientific methods
to define:

(@) The easiest way of doing a job (b) The most complex way of doing a job
(c) The best way of doing a job (d) None of these

The quantitative approach using quantitative techniques in Management is called:

(@) Scientific Method (b) Operations Research

(c) Quantitative Approach (d) None of these

The perspective that Managers are directly responsible for an organization’s success is known as:

(@ Omnipotent view of management (b) Management orientation

(c) Autocratic management (d) None of these

Effective Management decisions are:

(@ Emotional (b) Based on lots of data (c) Rational (d) None of these
Breakeven Analysis is a useful technique for:

(@) Reducing operating costs (b) Maximizing sales (c) Resource allocation (d) None of these
Recruitment helps:

(@ Improve productivity of HR (b) Reduce number of employees

(c) Improve labour relations (d) None of these

Grapevine is:

(@) An office decoration plant (b) An information network

(c) An official drink (d) None of these

Most important asset in an organization is:

(@ Money (b) Plant and Machinery (c) Employees (d) None of these
Employees resist organizational change because it:

(@) Reduces their compensation (b) Creates uncertainty

(c) Puts more work on them (d) None of these

Strictly observing Corporate Ethics is:
(@ Not important in commercial organizations (b)  Against the concept of profit maximization

(c)  An essential requirement of professional business management (d) None of these
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BUSINESS ADMINISTRATION
(xi)  According to Herzberg’s Motivation — Hygiene Theory, employee’s salary is:

(@) Hygiene Factor (b) Motivating Factor (c) Employee’s Retention Factor (d) None of these
(xit)  Who has the most power in Value Chain?

(@) Suppliers (b) Distributors (c) Customers (d) None of these
(xiit) Marketing is:

(@) Sales of goods and services (b) The range of services starting and ending with the customer

(c) Sales planning and promotion (d) None of these
(xiv) Marketing Strategy is:

(a) Activities focused to defeat competitors

(b) Activities aimed at creating value and profitable relationship with customers

(c) Activities for maximizing sales (d) None of these
(xv) Cost strategy means charging:

(a) Highest price for products (b) Lowest price for products
(c) Varying prices for products (d) None of these

(xvi) Branding is:
(@) Not possible for services (b) Not very useful commercially
(c) Useful for building product loyalty (d) None of these

(xvii) Creation of value in a business means:
(@) Earning maximum profits (b) Promoting rapid growth in sales
(c) Optimizing shareholder’s return in a company (d) None of these

(xviii’ Price/Earnings Ratio of a company shows relationship between its:
(@) Net profit and Sales (b) Gross profit and Net earnings
(c) Market price of its share and Earnings per share (d) None of these
(xix) Free Cash Flows are:
(@) Net after tax profit (b) Expected Revenues minus expected costs and capital expenditures

(c) Cashinhand and in bank (d) None of these
(xx) Term interest earned is:
(@ EBIT =+ Interest on debt (b) Net profit + Debt
(c) Sales + Interest Payable (d) None of these
PART-II

NOTE:(i) PART-II is to be attempted on separate Answer Book.
(i)  Attempt ONLY FOUR questions from PART-1I, selecting AT LEAST ONE question from
EACH SECTION. All questions carry EQUAL marks.
(i)  Extra attempt of any question or any part of the attempted question will not be

considered.
SECTION-1 (MANAGEMENT)
Q.2. Describe the key activities of the Decision — Making Process. (20)
Q.3. Briefly describe the steps involved in setting Corporate Goals. (20)
Q.4. What are the important contemporary issues in Organizational Control? (20)
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BUSINESS ADMINISTRATION

Q.5.

Q.6.
Q.7.

Q..

Q..

Q.10.

SECTION-II (PRINCIPLES OF MARKETING)

How can the SBUs of a company be classified according to the *Growth-Share Matrix’ of the (20)
Boston Consulting Group.

Discuss the major Brand Strategy Decisions for a new range of ladies shoes. (20)
Compare the important features of “Value — Based Pricing’, ‘Good — Value Pricing’ and (20)

‘Value — Adding Pricing’.

SECTION-I11 (FINANCIAL MANAGEMENT)

Describe the main features of the Main Methods of Evaluation of attractiveness of various (20)
investment proposals.

A company is evaluating the following three investment proposals: (20)
1) Produce a new line of aluminium trays.

(2) Expand its existing cooker line to include several new sizes.

3) Develop a new higher-quality line of cookers.

If only the project in question is undertaken, the expected present values and the amounts of
investment required are:

Project | Investment Present Value of
Required Future Cash Flows
1 Rs.200,000 Rs.290,000
2 115,000 185,000
3 270,000 400,000

If projects 1 and 2 are jointly undertaken, there will be no economies; the investment
required and present values will simply be the sum of the parts. With projects 1 and 3,
economies are possible in investment because one of the machines acquired can be used in both
production processes. The total investment required for projects 1 and 3 combined is
Rs.440,000. If projects 2 and 3 are undertaken, there are economies to be achieved in marketing
and producing the products but not in investment. The expected present value of future cash
flows for projects 2 and 3 is Rs.620,000. If all three projects are undertaken simultaneously, the
economies noted will still hold. However, a Rs.125,000 extension on the plant will be necessary,
as space is not available for all three projects. Which project or projects should be chosen?

DP Company presently has Rs.3 million in debt outstanding bearing an interest rate of 12 (20)
percent. It wishes to finance a Rs.4 million expansion program and is considering three

alternatives: additional debt at 14 percent interest, preferred stock with a 12 percent dividend,

and the sale of common stock at Rs.16 per share. The company presently has 800,000 shares of
common stock outstanding and is in a 40 percent tax bracket.

Q) If earnings before interest and taxes are presently Rs.1.5 million, what would be
earnings per share for the three alternatives, assuming no immediate increase in
profitability?

(i) Develop a break-even, or indifference chart for these alternatives. What are the
approximate indifference points? To check one of these points, what is the
indifference point mathematically between debt and common?

(iii))  Which alternative do you prefer? How much would EBIT need to increase before the
next alternative would be best?
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BUSINESS ADMINISTRATION

FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR Roll Number
@ RECRUITMENT TO POSTS IN BPS-17 UNDER
THE FEDERAL GOVERNMENT, 2010
BUSINESS ADMINISTRATION
. | (PART-I) 30 MINUTES MAXIMUM MARKS:20
TIME ALLOWED: (PART-II) 2 HOURS & 30 MINUTES MAXIMUM MARKS:80

NOTE: (i) First attempt PART-I (MCQ) on separate Answer Sheet which shall be taken back

after 30 minutes.
(ii) Overwriting/cutting of the options/answers will not be given credit.

Q.1.

(i)

(iii)

(iv)

™)

(vi)

(vii)

(viii)

(ix)

x)

(xi)

PART -1 (MCQ)
(COMPULSORY)

Select the best option/answer and fill in the appropriate box on the Answer Sheet. (20)

You wish to borrow $8,000 to be repaid in 24 monthly installments at an annual interest of 8%.
What is your monthly payment?

(a) $262.82 (b) $361.82 (c) $150.50

(d) $325.00 (e) None of these

If you invest $600 every six months at 8 percent compounded semi annually, how much would
you accumulate at the end of 10 years?

(a) $15,883.20 (b) $16,926.82 (c) $17,866.85

(d) $18,233.45 (e) None of these

A commercial bank will loan you $12,250 for three years to by a car. The loan must be repaid in
36 equal monthly payments. The annual interest rate on the loan is 12% of the unpaid balance.
How large are the monthly payments?

(a) $425.00 (b) $350.67 (c) $375.09

(d) $406.88 (e) None of these

What is the future value of a $500 investment, with a stated interest rate of 6% compounded
monthly for 7 years (round to the nearest dollar)?

(a) $700 (b) $730 (c) $760

(d) $790 (e) None of these

You are considering investing in a preferred stock that has a dividend of $3.25 per share. The
market price of this stock is $48.625. What is the rate of return you would expect to make on this

perpetuity?
(a) 6.68% (b) 6.24% (c) 6.05%
(d) 6.28% (e) None of these

Which is not a disadvantage of traditional file processing system?
(a) Program-data dependence  (b) Reduced data redundancy (c¢) Limited data sharing
(d) Lengthy development time (e) None of these

An enterprise data model is a (n) model.

(a) numerical (b) mathematical (c) narrative

(d) graphical (e) None of these

Which is NOT a component of a relational database?

(a) Entity (b) Table (c) Attribute

(d) Hierarchy (e) None of these

Database applications can be divided into five categories. Which is not a database application
category?

(a) Personal (b) Department (c) Enterprise

(d) Relational (e) None of these

A database that supports organization-wide operations and decision making is a (n)
database.

(a) department (b) enterprise (c) workgroup

(d) extranet (e) None of these

As small companies begin to achieve success, they tend to adopt some of the tools used in
professionally run marketing commas. This is a sign that the firm is in the stage of

marketing practice.
(a) entrepreneurial marketing  (b) formulated marketing (c) intrapreneurial marketing
(d) effective marketing (e) None of these
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BUSINESS ADMINISTRATION

(xii) The concept of a is used to describe a cluster of complementary products that are
closely related in the minds of consumers but are spread across a diverse set of industries.
(a) Metamarket (b) Metamediary (c) Marketplace
(d) Marketspace (e) None of these

(xiii) Marketers can increase the value of a customer offering by:

(a) raising benefits and reducing costs

(b) raising benefits by more than the raise in costs

(c) lowering benefits by less than the reduction in costs
(d) all of the above can increase customer value

(xiv)  When a firm sees its competitors as all companies that compete for the same consumer dollars,

they are concerned with the level of competition?
(a) brand (b) industry (c) form
(d) generic (e) None of these
(xv)  The number of channel levels from raw material to final product which a company will participate
defines the firm’s scope.
(a) industry (b) geographical (c) vertical
(d) competence (e) None of these

(xvi) Which of the following best describes the organizational members who integrate and coordinate

the work of others?

(a) Managers (b) Operatives (¢) Subordinates
(d) Customers (e) All of these

(xvii) represent the lowest level of management.
(a) Team leaders (b) First-line managers (c) Operatives
(d) Labourers (e) None of these

xviii) Which of the following roles is more important for lower-level managers than for either middle or

top-level managers?

(a) Negotiator (b) Leader (c) Coordinator
(d) Entrepreneur (e) None of these
(xix) Which of the following skills involve working well with other people?
(a) Technical (b) Human (c) Computer
(d) Empirical (e) None of these
(xx)  The phrase most associated with scientific management is .
(a) management relations (b) one best way (c) supply and demand
(d) quality control (e) None of these
PART -11

NOTE: selecting at least ONE question from each Section.

(i) PARTH-II is to be attempted on the separate Answer Book.
(ii) Attempt ONLY FOUR questions from PART-II. All questions carry EQUAL marks,

(iii) Extra attempt of any question or any part of the attempted question will not be
considered.

Q.2.
Q3.

Q4.

Q..

Q.6.

Q7.

SECTION-I: MANAGEMENT
What do you understand by Mckinsey’s 7’s frame work for Management analysis, and how it is

different from operational management approach? (20)
How do you differentiate between strategy, policy and procedure? Discuss the various steps in
planning process. (10+10)

SECTION-II: PRINCIPLES OF MARKETING
What is product line and product mixed? What kinds of marketing strategy and procedures are
required for new product development? (20)

Differentiate between marketing and selling? Describe how the actions of a shoe manufacturer
engaged in “marketing” might be different from a shoe manufacturer engaged in “selling”?(10+10)

SECTION-III: FINANCIAL MANAGEMENT
Discuss the major functions of the “financial manager”. Explain why judging the efficiency of any
financial decision required the existence of a financial goal? (20)

Explain types of long-term debt instruments and also discuss the advantages and disadvantages of
issuing/buying the three types of long-term securities from the perspective of both the issuer and
investor. (10+10)

seskskokod ok sk okofook kR ok sk ok

Page 2 of 2



BUSINESS ADMINISTRATION

FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION FOR S.No
RECRUITMENT TO POSTS IN BPS-17 UNDER S
THE FEDERAL GOVERNMENT, 2009
BUSINESS ADMINISTRATION R.No.
. | (PART-l) 30 MINUTES MAXIMUM MARKS:20
TIME ALLOWED: (PART-11) 2 HOURS & 30 MINUTES MAXIMUM MARKS:80

NOTE: (i) Firstattempt PART-1 (MCQ) on separate Answer Sheet which shall be taken back

after 30 minutes.
(i)  Overwriting/cutting of the options/answers will not be given credit.

Q.1
(i)
(ii)
(iii)
(iv)

v)
(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

(xiv)

(xv)

PART -1 (MCQ)
(COMPULSORY)

Select the best option/answer and fill in the appropriate box on the Answer Sheet. (20)
The key inputs into Discounted Cash Flow analysis are projected future cash flows.

(@) True (b) False

Market demand for a product is the total volume that would be sold by a defined customer group:
(@) True (b) False

Operational plans apply to the entire organization and establish the organization’s overall goals.
(@) True (b) False

Preferred stock has a fixed dividend paid every period forever so preferred stock is essentially a
perpetuity.

(@ True (b) False

The cost of debt is the return that the firm’s debtors demand on new borrowing.

(@) True (b) False

With the Internal Rate of Return, we try to find a single rate of return that summarizes the merits
of a project.

(@) True (b) False

IBM is example of a manufacturer brand.

(@) True (b) False
Modifying job responsibilities is an example of structural change:
(@) True (b) False

is a statement reporting the effects of a firm’s operating, investing and
financing activities on cash flows over an accounting period.

(@) Income statement (b) Annual report (c) Cash flow statement
(d) Balance sheet (e) None of these

studied five chief executives at work and identified ten managerial roles.
(@ Max Weber (b) Henry Fayol (c) Henry Mintzberg
(d) Fredrick Taylor (e) Michael Porter

A product life cycle :

(@ Shows how a product sales or profits may rise or fall over its life

(b) Tells you how long a product will sell for and make a profit

(c) Isdivided into three stages (d) Show how profitable a product will be

(e) None of these

All of the following are fixed assets except:

(@ Building (b) Stocks (c) Production plant

(d) Vehicles (e) None of these

What is the influencing environmental factor when interest rates increase and firms find it difficult
to borrow funds?

(@ political factor (b) social factor (c) economic factor
(d) technological factor (e) competitive factor

Which of the following is not a market-entry strategy?

(@) Licensing (b) Indirect exporting (c) Joint venture
(d) International marketing (e) None of these

is information about physical working conditions, work schedule and the
organizational and social context of the job.

(@) Job specification (b) Job context (c) Work activities

(d) HR policy manual (e) None of these
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BUSINESS ADMINISTRATION

(xvi) The liquidity of a firm is a measure of

(xvii) Market share means

(@) Its ability to pay bills

(b) Its ability to respond to changes in demand

(c) How flexible it is in its production planning

(d) How quickly and easily a firm could relocate to another site
(¢) None of these

(@ How well a firm is doing (b) How much power a firm has in the market
(¢) How many firms are there in the market (d) How big a market is
(¢) None of these

(xviii) refers to a management philosophy that requires employers to continuously set
and relentlessly meet ever high quality, cost, delivery and availability goals.
(@) Performance management (b) Performance appraisal (c) Continuous improvement
(d) Management by objective (e) None of these
(xix) Beta :
(@) is a measure of firm specific risk (b) is a measure of market risk
(c) is a measure of total risk (d) All of these (e) None of these

(xx)  What is the price of a stock that is expected to pay a 1.00 dividend next year if the cost of capital

is 14% and the growth rate is zero?

(@ 7.14 (b) 6.75 (c) 11.9
(d) 6.13 (e) None of these
PART - 11

NOTE: selecting at least ONE question from each Section.

(1) PART-II is to be attempted on the separate Answer Book.
(i)  Attempt ONLY FOUR questions from PART-I11. All questions carry EQUAL marks,

(iii) Extra attempt of any question or any part of the attempted question will not be
considered.

Q.2.
Q.3.

Q.4.

Q.5.

Q.6.

Q.7.

SECTION-I: MANAGEMENT
What do you understand by ‘efficiency’ and ‘effectiveness’ in management? In today’s environment,

which one of the two is more important to organizations? Explaing your choice. (10+10)
What is work specialization? How can the concept of specialization be applied to institutions such as
universities and government agencies? (10+10)

SECTION-II: PRINCIPLES OF MARKETING
Identify some major factors that drive the new economy and explain what changes these factors have

brought to marketing? (20)
What is the role of advertising in marketing? Select an example to illustrate what you believe to be
good advertising and why? (20)

SECTION-III: FINANCIAL MANAGEMENT
What is ratio analysis? List four ratios and explain what they are used for? Discuss various benefits
and drawbacks of ratio analysis? (5+5+10)

Assume that it is now January 1, 2009. On January 1, 2010 you will deposit Rs. 1000 into a savings
account that pays 8 percent.
(@) If the bank compounds interest annually, how much will you have in your account on January 1,

20137 (5)
(b) What would your January 1, 2013, balance be if the bank used quarterly compounding rather
than annual compounding? (5)

(c) Suppose you deposited Rs. 1000 in four payments of Rs. 250 each on January 1, 2010, 2011,
2012 and 2013. How much would you have in your account on January 1, 2013, based on 8
percent annual compounding? (5)

(d) Suppose you deposited four equal payments in your account on January 1 of 2010, 2011, 2012
and 2013. Assuming an 8 percent interest rate, how large would each of your payment have to
be for you to obtain the same ending balance as you calculated in part (a)? (5)

*hkkkkhkkkkikkhkkkikhkkkihihkkiikikk
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' ; ™ Roll No.
COMPETITIVE EXAMINATION FOR .
RECRUITMENT TO POSTS IN BPS-17 UNDER
THE FEDERAL GOVERNMENT, 2008 —

BUSINESS ADMINISTRATION

(PART-I) 30 MINUTES MAXIMUM MARKS:20 |
(PART-11) 2 Hours & 30 Minutes MAXIMUM MARKS:80 |

TIME ALLOWED:

(i) First attempt PART-T (MCQ) on separate Answer Sheet which shall be taken hacki
NOTE: after 30 minutes.
| (i) Overwriting/cutting of the options/answers will not be given credit.

PART — 1 (MCQ)

{(COMPULSORY)
(0.1, Select the best option /answer and fill in the appropriate box on the Answer Sheet. {20)
(i) The last stage of Maslow Need Hierarchy is Esteem.
(a) True (h) False
(ii)  An effective Manager is one who achieves the goal with the least amount of resources.
(a) True (b} False
(iii)  Audit is a type of controlling system,
(a) True (b) False
(iv)  Removal of undesirable elements serves as Negative Reinforcement tool to motivate the
people.
(a)  True (by  False
{(v) Marketing of services heavily rely on advertising.
(a) True (b} False
(vi)  Advertising is paid, personal communication through media.
(a) True (b)  False
(vii) Skimming pricing is used when the customers are quality conscious.
fa)  True (b) False
(viii) Advertising is usually at the top of Promotion Mix of every product.
{a) True ib) False
(ix)  Profit as against Share Price Maximization is always a desirable goal of organization.
(a) True (b) False
(x)  Fora short term creditor, liquidity ratios are more important than efficiency ratios.
(a) True (by False
(xi) Low levels of net working capital decrease risks.
(a) True (b} False
(xii) The present value of an annuity is inversely related to future value of annuity.
(a) True (b} False

(xiii) The three levels of a product are;
{a)  Core, Packaging and Promotion (b)  Actual, Core and Pricing
{c) Augmentation, Core and Actual (d) None of these
(xiv) MBO means:
(a)  Management based on Organization
(b)  Management based on Objectives
{c)  Management by Objectives
(d)  None of these
(xv) The two broad price policies are:
(a)  Demand and sales hased pricing
{(b)  Penetration and low pricing
(¢)  Skimming and Demand based pricing
(d) MNone of these
{xvi) Quick Ratio is calculated by dividing:
(a)  Current Assets by Current Liabilities
{b) Current Assets by Inventories
{c) Current Liahilities by Current Assets
(d) MNone of these
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(xvii) Decreasing inventories is a source of:

(a) Assets {b) Funds
(c) Credit (d) None of these

(xvii) Entrepreneur is:

(a) Manager looking for profit

(b) Manager looking for employees satisfaction
(¢)  Manager looking for every opportunity

(d) Mone of these

(xix) The depth of a *Product Mix" indicates:

(xx)

(a)  All products offered by a company with its versions
(b)y  All products offered by a company with its brands
(c) All produets and service brands

(d) None of these

A person directly involved in operation and accomplishment of main objectives of the
firm is called:
(a) First-Line manager (b) Line-Manager
{c) Staff-Manager (d) None of these
PART - 11

NOTE:

(i) PART-IIisto bc_ﬁﬁcm]ied on the separate Answer Book.

(i) Attempt ONLY FOUR questions from PART-II selecting at least ONE question fro

each SECTION. All questions carry EQUAL marks.

(iii) Extra attempt of any question or any part of the attempted question will not be

considered.

Q4.

QS5.

Q.6.

L7,

SECTION —1: (Management)

Explain the role of “Strategic Planning” in the present business world, How is 1t
different from simple planning process? Give examples.

Define “Managerial Leadership”. Compare the Ohio and Michigen State University’s
approaches of Leadership Styles.

SECTION —1I: (Principles of Marketing)

Define ‘Global Marketing’. How is it different from International Marketing?
Describe the elements on which an organization should focus to globalize its product
more effectively.

“Sales Promotion™ is taking the place of “Advertising”. Comment. Discuss some
commonly used Sales Promotion techniques for customers and channel members.

SECTION -11I: {(Financial Management)

The ‘Big Star Ltd’ purchase a machinery from Hi-Tech Corporation. It is agreed that
the payment will be made in Four installments. The Big-Star Company paid
Rs.10,000 at the time of purchase and will pay Rs.15.000 after one year. The
company will pay Rs.18,000 two years later and Rs.21,000 three years later, from the
time of purchase. What would be the present value of receipt from the sale if the Hi-
Tech Corporation uses a discount rate of 5 percent.

How do “Liquidity and Leverage Ratios” help the management in taking financial
decisions? Assume some data to explain the role of these ratios in financial decision
making.
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUTTMENT TO POSTS
IN BPS-17 INDER THE FEDERAL GOVERNMENT. 2001.

BUSINESS ADMINISTRATION
TIME ALLOWED: THREE HOLURS MAXIMUM MARES: 100
NOTE: Attemnpt FIVE guestions in all, including question Ne.7 which is

COMPULSORY. Select at least ONE QUESTION from =ach ol the
PARTS 1, IT ANI TN Al questions carry EQUAL marks

PART =1 (MANA i

1. Explain ihe SELECTION PROCESS used in modern organizations. What
techniques can be used o improve the interviewing process used os a selection

teshnigue?
2 If you were » manager, would you deceniralize authority? Siale several reasons
for your answer.
How would you make sire that you did not decentralize oo much?
PART - I {PRINCIFLES OF MARKETING)
3, Explain how the following macro-environmenlal [orces aflect the inarkeling

programmes of buginess organizalions:

(2  Technology {b)  Econcmic Conditions
() Folitical anc Legal Forces ;

g, “ Once a company decides lo target a pardeular country, it has to determine the i
best mode of entry”. List the allernatives available and explain the natures,
sdvantages and limfiations of any TWO invelving more commitment, risk, control
and profii poiential,

PART - LI {FINANCIAL MANAGEMENT] I
5. iuplain the following concepls/lerms with examples;
{a) Drehi=to=Equity Ratio (b} Retumon Eﬁuhf (ROE)

{¢!  The Economic Order Quantity (E0Q) (d) Cash Dodgel .
{e)  Classification of Working Capital on the basis of Time

5. Selected Mnancial ratios for XYZ Co. are as follows:

e 19x ] 19x2 19x3 *
Currend ralio 4.2 26 1.8
Acid sl ratio ; 2.1 1.0 fi
Debt-to-lotal assets 3% 3% 47%
Inventary Tumover B.7x S5d4x 1.5x
Average volleelion peried 33 days 36 days 49 days
Total asset lurnover I 2.6x 1.9x
Mel profit mergin 18% 2.5% 1.4%
ewm on invesineent (RO 112, 1% .5% T 8%
Return on Eguity (ROF)Y | 15.7% 0. 7% 54%
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{a) Why did return on invesunen! decline?
(hi Was the increase in debt a result of greater current hiabilities vr of
greater long-term debl? Explain.

COMPULSORY QUESTION

Write only the correct answer in the Answer Book. Don't reproduce the
guestions.

(n Mot preferred siock pays a lixed divided at regular intervals:
{a) Truc (6}  False

{2} Anyincredse in an assel ilem is a soutce of funds:
{2} Tre {bY  False

{37 Deprecieiion is 2 book-keeping cntry thot allocates the cost of assets
agninst incomé bul does Rot involve any movement of capital:
@y True (b)  Falss

(4} The mawrity of a security relates to the owner's ability 1o convert it imo
cash on shon notice:
{a) True {b) Fulse

(51 The coedit period represents the period of time during which & cash
diseount can be taken for early payment

(a) True (b)  Faise
{6} Which ratio is compaled with the help of the fallowing:
Cozt of gal
Inventory

() Feeejvable umowver (b)Y Teemes interest earmed
{c) Inventary Turngver  (d) Mone of these

(7Y cieiiens is the right that i dl:l:g.nted 1o an individual or a depariment to
vimitrol specific processes, practices, policies, and other matiees relating 1o
netivilies vnderiaken by persons in other depurimenis.

{a) Line authonty {b) Functional Authority
fch Line and Stafl aatharity (] Monc of Lhese

(%} Decentralization is the téndency o dizperse decision-making in an
organized structure:
(a}  True (h) False

{93 Proprams ane plans which are gencral statements or understandings that
guide or channél thinking in decision making:

fa}  True (kY  False
{11+ E— is that part of managing that involves estahlishing an infentional
structure of roles for people to il in an organization.:

{a)  Leading {(hy  Comrolling (3  Planning
{d) Maone of thess ;

(1) Henri Fayol applied the paneiple of ' Division of Work" te all kinds of
work, manaperial as well as technical!

{aj Troc . ik} Fal:z

{12y ......... spcll owt specific required aclions or non-actions, allowing no
discretion;
{a) Procedures (b))  Budgels (el Rusles

(ch None ef these
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£i3)  Buginess buyers are as geographically dispersed as final consumecrs:
l (a) Trus (b} Falge -
(147 The distinction beivween a consumer good and an industrial good is based
on the purpose for which the produst is porchasad:
(al True (b  False

(15)  Imiensive distribubion oceurs when the praduct is stocked in 25 many
outlcts as possible:
(ay  True (b)  False

{16)  Mcrchant wholesalers are independently owned businesses that do not
wwn (lake tille 1o} the goods they sell:
fa) True - (o) False

{17 Which el the following <lemenls i a compensation package provides the

o~ greatest amaunt of incentive for salespersons:

{a)  Salary {b]  -Fringe benefits
e} Commissions (d)  'Useof Company Vehicle

(18)  The process whersby the scller distinguishes between market segments,
selects ane or more of these segments, and develops products and
markeling-mixes failored to each segment izcalled......... markeling,
(a)  muss (b)  target
(c Product Variey (d)  service

(1% Goods thal the consumer, in the process of seicotion and purchase,
characicristically compares on such bases as suitability, quality, prige, and

style are called.. ..., .. poods,
[a) Shopping (b}  Specialty
e} Unsoughl (d) Convenience

(200 Product......... 15 a period of rapid market aceeplance and increasing

profits.
fa) development . (b)), introduction
{t}  growth (d)  meurity
RSP ERN S S - Tt
Fape Jalld .
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COMPETITIVE EXAMINATION FOR RECRUITMENT TOQ POSTS
IN PIIS-17, UNDER THE FEDERAL GOVERNMENT, 2002

FEDERAL PUBLIC SERVICE COMMISSION

BUSINESS ADMINISTRATION

FIME ALLOWED: THREF, I0URS MAXIMUM MARKS: 100
NOTIE At FIVE questions in all, including QUESTION NOL 7 whicl is

COMPULROIRY. Select ol least ONE yuestion cach of the PARTS T, T
AN ITL Al uestions carry ROUAL mocks,

= ¥ T
Q.10 Wil = prganiaitivna) culiere? Discuss the sowrees ol vrganiation cultere,
0.2 The abilivy i nuntepe gonflict i3 undosbiodly ope of the maost impasanl skills o
T oMEaApCE needs,

discnss whit Kinds of conflicts arise in the ergamizations and Iuwu IRIALCTS Gl
develop ellective conlMizt resolution skills,

PART-[ (PRINCIPLES OF MARKETING -

013, Discuss the evolution of *marketing coneept”, lelrmn: ke e corscep” witls
“sellig vomeept”,

Qb Neyeribe the precess of formulation of marketing stralegy,

FART-TLE (FINANCEAL MANAGEMENT)

5 Fapiain the following conceplsferms with examples;
Crech conrversion oycie (COC)
Woseals varbue per share |!
Bdolilicad hotermal race of retorn (MR
Yield w neterity (YT
UDnsiness Kisk ¥s. Financial Risk

(G, The lollowing dato appdy 1o AL, Kaoiser & Company (miilians ol doeliars) .
Cish and markelabie securities S100.00 [
IFixeal nssers 3285 50 : :
Sles $1000.00 i |
Mot income $50.00
CQuick ratio 2.0 X
Current ralio 3.0 X
Average collection perivd 40 days
Kenirn an eyuily 12% ;
Faauser bas no prefemad stock — only comnmen steek cguaily, eurrent Liati lities and '
longe 1eom debi ;
ey uired:
Faand Kaser's
: {10 peconnt receivalile (AR, .|
2] Cueren Hahilines, .
(2 Courreiil sisscts, 5
) bl b gy, i
(5} return on assets (ROAY,
(6} compmon stk eguity. and H
(7 lomg temm aels

PAGE P af  WUMPAGES 3
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BUSINESS ADMINISTRATION

COMPLULSORY (ULSTION

0.7, Wrile only the correct answer in the Answer [looks. Do not reprduee the
gueslio. : :

i Which of the Tolluwing statemenis is true?

(a)  Decisions in public orpanizations emplasize politcal prinrities,

- winle decisions in business organizalions ww rticnal and

upulitical.

{n} Pulslic decision makers, o comirast e their business couslonparls,
are constrained by administrative prucedure thol imit mansgerial
suthapity asd aulonomy.

3] iz hard to pel high perfarnianee oul of pavernment enployees
hecange, mnpnmﬁ 10 their husiness comicrpars, lwy are lugy.
mpre security orenled, and less molivated,

i) Mone of the above is 1rue.

2 Whao haos verifien the Gunous hook, *Principles of Seienlilic Munapgement™?

fal Elien Mayo ikl Flenh Fayol
(). Fredric Tavior {lp Wik Weber
(] Mone of the above
3} Wiieh of the following conrot he considerced as an inp utant dimension

on which nation's culivee differ?
{1 - Individualism Vs, eollectivisns (b} Pvwer distunce

{c]  Uncertninty avoidance (1) evonomic levelopment
4 Mar kel penetration pricing stralegy can be pursic i e seasitive
markel .
L) e {hy  False :
51 A product can lave o combination of phvsical prodict thl service
{an) True a1 [rahse
) Vertical imarkeling system is inlegration of manulacturing arl mutkul.ing
aclivities
(a1 Tre (by  Talsc
7y [nstribution of free p;:u-rl:nni samples is part of publicity
(np  True () Fol=e
8y Whiich of the foliowing is nol part of Marketing, Mix.
(a1 Adverising (b)  Personncl Selling
() Pubiicity f]] Sales Promolion

red Noae of the above is parl of Marketing Mix
n Whiclh of the following is noi port of product atlribioies?

() Cunlity ] Prsivioning (e} Bramd .
()  Packaging (€] Mane af the abowe 15 2 product alinhase

105 Usler monopolistic competition, the market consists of 2 fionw seliers whio
are highly sensitive to each uther's pricing and markeling sirategies
@ Tme (k) Talse

1) Which of the following sintements is not pan uf theory *X” assumplions?
() Decisions are made in participative mannes
) Cmployees inherently dislike work
(&) Employees must be coerced 1o achieve goals
)y Employees tend (o avoid responsibililies
te)  Mone ol the obove is theory X assutnplinn
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN PBS-17, UNDER THE FEDERAL GOVERNMENT, 2003

BUSINESS ADMINISTRATION

TIME ALLOWED: THREE HOURS MANTMUM MARKS: 100

NOTE: Attempt FIVE questions in all, including Quustion Ne.7 which is
COMPULSORY. Select at least ONE guestion from each of ths
PARTS =1, 1T AND IT1. All guestions carry EQUAL marks,

PART-I [MANAGEMENT)
L Cumpare and contrast the Maslow and Herzberp theories of motivation. On what
grounds has the Herzberg theary been criticized?

2. How iz staffing funcrion related o other manngenial functions and acrivitics? List
and evaluate exlemal fctors affeciing staffing.

PART-II (PRINCIPLES OF MARKETING)

3, “Marketing is a wtal system of business activities designed to plan, price,
promote and distribute want - satisfying products and services to present and
potential customers™. Comment on this stalement comprehensively.

4, Explain the following rerms:

(i)
(1)
(ili)

Sales promotion policies,
Clobal markeling,
Marketing Mix variable and Marketing Environment variables.

PART-ITI {FINANCIAL MANAGEMEN

5. What is meant by the term “The Time Value of Mooey™? How is the concept of
“Present value™ related to the tine value of money?.

&, (a)  Discuss tha effects of the three approaches to working capital financing
policy.
(b)  Assuming that the current ratio is 2, state in each of the following cases,
whether the ratio will imprave, or decling, or have no change:

{i} Payment of a current habiliy,
{i1)  Purchase of fixed assets.

{ii)  Cash collecied from cusiomers.
(v} lssue of new shares.

{c) A corporation has iotal assels of Rx 500,000 and its equity is Rs.200,00).
What is the Company's debi-to-total-assct ratio?

COMPULSORY QUESTION

7. {(A) Write only “True” or “False™ in the answer book. Don't reproduce the slutements.

(1} Business risk is influenced by the firm’s decision to use debt in its
financial structure,

(2)  The most important function of management is controlling,

(3) A short term creditor would consider liquidity ratios to be more important
than efficiency ratios.

(4) According to Maslow, when & need is satisfied, i u:nds o Ius:. its ability
to motivate.

{5} The lerm marketing mix refers © the degree of advertising Vs persenal
selling uged 10 market a product,

{6) The difference between an agemt and a merchant wholesaler is that an
agent always takey title but a merchant whole saler does not.

{7y The management of working capital is required because of a lack af short-
term synchronization between demand and supply.

THEG&SPOINT.COM
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BUSINESS ADMINISTRATION | } 5\
{8) A manager who belicves that le inheremily disiike w y :
accepls MeGregor's Theory X. peor g N COMP -
(¥} Inventory camying ¢osls can be minimized by camying fewer units in o IN
inventory,
{10} A balance shect is an accounting report used soleiy for the corporate form
of busingss,
{8} Write only the commect answers in the answer book, Dou't reproduce the guestions. R
NOTE:
{11} For masagement, budgeting is perdaps the most powerful
fa) Forecasting tool (b Contral device
(e} Hiring 100l {d) Accounting measure. . Q.Mo.
{12) The income stalement is & summary of, 1. . ()
{a} Revenue and expenses {b) Asscis, liabilities and eapiral
fc]  Incréases and decreases in capital (d) None of these. (s}
{13) Gn: bencfit of using ratio analysis when interpreting financial statements ()
L& that:
[2) Ratios facilitales comparisons between different cummmes {d)
(b} All ratios have exact standard vaiues with which perfiormance can ; I
be compared. 2. (a) |
() Ratios take into account all the specifie faciors affecling particular .
companics and industries. (b]
{d}  Ratios are always the same for all types of companies.
(14) Planning and policy muking are primarily functions of: (el
{a) Top management (B} Middle management 3. (a)
{¢) Operating roanagement (d) None of thess. o :
(15) Anirformul ogumzation often éxists within a business because: ()
" {a) Notall relationships can be specifically defined
+ (b)  Small crgunizations do nol necessanly émphasize sinct adherence (<}
o {a line autherily. '
e} Human behaviour natarally crosses established authority lines,
(d} All of these.
(18} In marketing, selling and buying would be called the:
{a) Primary funciions (b} Exchange functions
() Prefil functions (d} Critjca] functions,
(17 Institutional advertising 1% 4. (a)
{a) Aimed only at pﬂ}plt in institutions. (k)
i)  Run only by institutions. ¥
(¢} Designed to promote & lype of product rather than a particular () ﬁ
‘prand. £ 2
{d) Designed simply 1o show that the firm is a good place to do - E
business. 50 {a) )
(18} The curreni ratio of a firm baving Rs.25,000 of cumrent asscts, Rs.30,000 . {b) L
of fixed assets, Re 5000 of cuwrent liabilizies and Rs.10,000 of fixed (<) I
liabilitics would be: - _ . .{d_] E;‘
@ 5:1 by 7:1 : - ks
{e) 10:1 {d)  None of these. ;6 (@) G4
(19} The organizational form that replaces individual authority at all levels with 4 (b}
group representation is: : {e) i3
(s} Line by Line and staff ; o
{c}  Functional (d)  Committec. 7. (&) -k
{20y Working Capital may be expressed as: ' e
{a) Currqm assets minus current liabilities ' (b) -
(By  Current and fixed assets minws carrent and fixed liabilies : 3
fe)  Currént assels over current labilities ! {cy -

fd) Current and fixed assels over current and lixed liabilities.

LEE L L L L L L




FEDERAL PUBLIC SERVICE COMMISSION ¢ 4

COMPETITIVE EXAMINATION FOR RECRU ITMENT TO POSTS
IN BP'S-17, UNDER THE, FEDERAL G OVERNMENT, 2004

BUSINE | Tl

TIME ALLOWED: THREE HOURS_____ MAXIMUM MARKS: 100

NOTEE:  Adlempl FIVE quesiions in all, including Question No. 7 which is COMPULSORY.
Select at least ONE question from each of the PARTS I I and TIL All questions
cany EQUAL mardks, .

PART-I: (MANAGEMENT)

L How does clfective managing take advantage of motivation? Exjlain any TTHREE
Special Motivational Techniyues used by managers,

2, Pricily explain the BASIC CONTROL PROCESS, Also explain the reguirenents for
effective controls. (3+13)

PART-II; (PRINCIPLES OF MARKETING)

3. Explain the several types of channels available 1o the manufaciurar. What inllucnce docs
. cach of the following factors have on the choice of marketing chinncls?

{5+ 15)
{=) e product (b) * e market
{c)  the manufaciurer's organizution
4. Fxplain the follawing management activities relaling to stafling and operating a siles
force:
{a) Recruitment and Seleclion (b} Training a soles foree
(<} Supervisiog a sales force
PART-UI: (FINANCIAL MANAGEMENT)
3. The Royal Carpuraticn munufacturers only one product: Yewa. The single raw material

used in Yewa is the larg. For cach Yewa manufactured, 12 |arps are required. Assurie
that the company manufectures 150,000 Yewas per year, that demand for largs is
perfectly steady throughout the year, that it costs Rs,=200 each tine largs are ordercd,
and the carrying costs are Rs. 8 per larg per year.

(a)  Detemmine the economic order quantity(EOQ) of largs. "
(b)  What arc total invealory cosis fur Royal{iotal carrying eosts plus tolal ordering

COsIE)? (T}
{c}  How many times per vear would inventory be ordered? ()]

., {a)  Why might it be possiblc for a company to make large operaling profits,
yet still be unable to meet debt payments when due? What financial
RATIOS might be employed to detect such a situation’ {10}

(b} Briefly explain the key variables considered by the portfolio manager of a
company for purchasing marketable securities. (10)

M MY QUESTION
7. (A} Writconly “True" or “False™ in the Answer Book. Do nat reproduce the question.
(1 In 8 large corporation, the lirm's owners are usunlly its to)r munapers.

(Z) The basic information needed (0 construct a flow of fund - statenyent is found on I
the: incame statement

THECSSPOINT.COM
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(3} The operating break-cven point is the point at which operating profits equal
TEVCTUES INinUs operating costs.
{4) A sinking fund is a poorly performing iutual fund whose net asset value is

declining.

(51 Penetration Priciog is used when o mackeler introduces a new-produci at a
relatively high price,

() The most commonchannel fur consumer products is manulacturer-retailer-
CONSWMET.

{71 Inthe classification of consumer products, convenience products are usually more
cxpensive thon shopping products,

{8y  During the maiurily stage of the PLC, sales incrcase at faster rate than during any
other stage.

(9 A wide span ] management resultd in fow crganizational lovels, amd 2 nacrow
span resulis in many lovels,

(1) The LINE relationship involves making decasions and acling on thuin,

{i1) Data is dcfined as “formal sysiem of gathering, integrating, comparing, analyzing,
and dispersing information intemnal and external 1 the enlorprise in a tmely.
effective and efficient manner™,

-{32} A manager who believes that people inberenily dislike work probably aceepts
MeGregor's Thoory X,
{U) Wrie only the correct answer in the Answer Book. [lon't reproduce ihe question.

(17} ICa manulacier gives @ 30 pereent discount (o retailecs and 2 10 percent
discount o wholesalers, which type of diseowat iz being given?
{a)  Quantity () Cash ;
(e)  Functional (d)  Scasonal

{14) Publicity diffcrs from advertising in as much as:

© {a) it is diregled al large numbers of conswmers

{BY  Tis message is of 2 nou-personal nature
fe) It is carried by the mass media
(dy It is a nonepaid Form of reaching the public

(153}  In which stage of the PLC are promotion expenses per product itern usaally

highe=t? .

(@)  loroduction - {b) Growth

(c) Maturity {d) Decline ) ;
{16}  Which of the [ollowing is not a disadvantage of using a Commiltec? W

(a}  Highcostintmez and mopey (b} Splitting of responsibility
{c} Group deliberation and judpment (d) Compromise decisiony

(17} ldentify the Organization established by our Federal povernment 1o regulale . . . i
security markets: 3 ,-"
(a} sBr {h) SEC : I ._%
(€} NAD (d) NFC 5
(18} I the credil izrms are 2710, pet 30 and the amount o inveice is Rs, 4000, how ""ﬁ
much is the discount il the invaice is paid in 20 days? ’ =
(a)  Zeo {b) Hs 30 f&)  Reo60 (U} Rs120 -3
{19 Which of the [ollowing is pot part of the promotion-mix? . :.‘E
(a}  Public relations (b)  Product planning it
(c} Personal selling {d) Advertising ' Bl
o E*,:
{200 Selling activities include;
(a) Sales presentations (b}  Demoustrations (c¢) Handling objections S
{#)  Closing the sale ey Allthe shove . -
<+ ] Sl
T }
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FEDERAL PUBLIC SERVICE COMMISSION

COMPETTTIVY, EXAMINATION FOR RECKUITMENT TO POSTS
IN BPS-17, UNDER THE FEDERAL GOVERNMENT, 2005

BUSINESS ADMINISTRATION

LI ALLEWEL: TTIREE HOURS MAXIMUM MARES: 100
NOTF: Adlernpt FIVE questions in all, including QUESTION NO.7, which is

b

COMPUTSORY. Sclect a1 lesst one question from cach ol the PARTS 1, 1) and
L All questions carry EQUAL marks,

) PART - | (MANAGEMENT)
What is icalership? Discuss any Twy theonies of leadership.

Bric{lv caplain Planning. Describe various sieps invelved in Planning process in (5 115)
uny hitstness organizalon

PART - I (PRINCIPLES OF MARICETING)
Ciaplain Wielly Morketing. Desedbe variows functions of makoting,

Iixplain global Markeling. Discuss its signilicance lor the modorn busnness (5> +15)
enganization of the 21" Centrury,

PAITT - I MAGE VI

Star Corporation is considering a project with a cosl of Rs.40,0000 pel invesiment and
net nperating vash inflows of ]s.11,652/= each ycar for the next five yzars. The firm
uses 0% disceunl pale for projects with similar risks

{a)  What is Projects’ net present value (NPV)? {7}
i} Wil 35 v intermal pate of reparn (KR (73
ey Should e project be accepted assuming that funds are available? L

Reyal Coporation current assels, inventorics and current liabilivies for a four year period
arc a8 lodlows:

Lo, i 2000 _ 2003 2002 204013
Current assets Ke 20 000 Re.22 400 [s.25,600 Rs. 24100
Inventorics it5.5,200 [%5.10,000 5. 12,500 R 14 0000
Currend liakahities ks, 10,0040 K 110,20 Rs. 10,700 LERRRLLY
(a} Calculats the firm's current and quick rativs fur each yepr. (i
I Mircusa the firm's liquidity position over the four year pedod of lime (10}
COoMPu UESTION

(A} Write vuly "T'rue* or "False” in be Answer Book. Do nod reproduce tle gquestion.

£ Planning initigies other functions o[ management,

(2} Managements makea things o happen

(3 The ultiate eriterign of control iz the cxient that activilies are complele in
ways that lead to mare poofits '

(4)  Computer Technelogy helps the management but does nwol repiace the
MARAREMEnt.

(3} Promotionol mix is also known as commtmication mix.

i) Marketing covironment is made up of micro-envaromnent and wncro-
environment,

A7y Promotional mix is the pat of marketing nix

{#)  Markeling strategy consisis ol specific stralegy for target inarkets,
positioning, the markeling mix and marketing expenditure levels.

(") A Financial manager has & full conlral over s [irm's stock [price.

(10} Liguidicy ratios measure a liem's ability to mect shion -tenn obligations,

{11}y  The internal mie of return moipod a8 the most widely used capidal
budgeiing technigues, s

(12} Stock Exchange facilitates jvestmenl in roal wssels by providing
secondary market to the limancial securilies.

Pagc | uf 2
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BUSINESS ADMINISTRATION

(3% Write only the eomeel answer in the Aunswer Book. Do not repruduee the
gueshon.

{13} The organizing (unction of management includes:
{a)  how tasks to be grouped.
(b)  Conflict resolulion among sub-ordinales.
(c)  Comparison of actusl results with a budget.
(/}  delimtion of organization’s goals.

(14)  The key 1o motivating today's diversified work foree lies in:
oy creativity 2] goal selling
(i) suppot idl Nexibility

{15) Control should be placed:
() Whre they are ol #f Leelive
i} (i all golivitics
ic) Where there e problem arcas
{d) {in the single rost Impodtam

{16) ‘The marketing logic by which the business vnit hopes to achicve s
markeling ohjective is called:

(@)  1usiness stralegy iy Marketing strategy
{¢)  Production & distribution (4} Al of the above
cralcyy

(177 Strategic Plapning is the process of developing a formal slrmegy Tor.
(n) Identifying clear objectives {b)  Loogrun survival & prowth
{ch Continuily & Consistency  (d) All of the above

(18) Who are the true owners of Corporation?
{a)  debt holder (b)  common slock holders
{c) Manapgers of tbe fimm (d) board of direstors

(19)  What does un efficient port folio provide?
(a)  highest return for a given amount of risk.
(b  ‘leastnsk for a given level of retum.
{c)  Highest possible return und legst amount of risk.
{d} Both (a) mod (b

{20) The cconomic order guaniiy (EOQ) increases when which of the
 following increases? -

(a)  Sales (b} . urdering costs
{c)  carTying cosls {dy Both(a)and{(b) - .

araaedd bbb iik
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